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Group 1

For questions 1 through 9 indicate the normal balance side of each account using the code:  DR=debit  CR=credit

1. Depreciation Expense




6. Sales Discounts

2. Land






7. Medicare Tax Payable

3. Gain on Plant Assets




8. Transportation In

4. Accumulated Depreciation—Equipment

9. a partner’s drawing account

5. Allowance for Uncollectible Accounts

Group 2

For questions 10 through 13 write the identifying letter of the best response on your answer sheet.

10. If there is a net loss for the fiscal period, the amount of the net loss would appear 


on the work sheet in the


A. income statement debit column; the balance sheet credit column


B. income statement credit column; the balance sheet credit column


C. the income statement debit column; the balance sheet debit column


D. the income statement credit column; the balance sheet debit column


E. none of the above

11. A perpetual inventory is also referred to as a __?__ inventory.


A. book       B. periodic       C. physical       D. stock       E. costing

12. Which of the following is true about the lower-of-cost-or-market rule and 

    
conservatism?


A. The inventory amount reported on the balance sheet is never greater, but may be



less, than the actual cost of the inventory.


B. Increases in inventory value are recognized and recorded.


C. Decreases in inventory value (losses) are recognized in the period in which the



merchandise is sold.


D. The lower-of-cost-or-market rule may not be used with the specific identification



method of inventory costing.

13. What is the name of the terminal that reads UPC bar codes and helps businesses


use the perpetual inventory system?


A. instant quantifier



B. point-of-sale


C. inventory subsidiary ledger


D. Grand Central Station

Group 3

The Jackson Co. uses the periodic inventory system and takes a physical inventory on the last day of each month.  

The Jackson Co. experienced a total loss due to a fire on October 8, 2005.  Now Jackson Co. must provide to their insurance company evidence of the estimated cost of the inventory lost.  Fortunately, the company electronically transmitted all of their accounting data to an off-site server on a daily basis.

The off-site server provided the following data for the year-to-date ending September 30, 2005 and for the month of October through the 7th day.

	
	1-1-05

 through

 9-30-05
	October 1 through

 October 7, 2005

	Sales
	98,401
	10,930

	Sales Discounts
	2,952
	320

	Sales Returns & Allow.
	3,749
	410

	Beginning Inventory
	19,600
	                  ?

	Purchases
	56,573
	6,285

	Purchases Ret. & Allow.
	1,810
	227

	Purchases Discounts
	3,472
	364

	Transportation In
	2,755
	282

	Ending Inventory
	20,460
	                  ?


For questions 14 through 21, write the correct amount on your answer sheet.

Answer questions 14 through 19 based on the first nine months of the year.  What is the amount of…

14. net sales

15. cost of merchandise available for sale

16. net purchases

17. cost of delivered merchandise

18. cost of merchandise sold

 *19. gross profit on operations

20. What is the percentage of gross profit on operations for the first nine months?

 *21. What is the estimated ending inventory destroyed by the fire?

Group 4

Daytona Co. operates in a city that imposes a property tax on real and personal property.  The city tax rate for both types of property is 1.5%.  Daytona has the following asset information.

	Asset
	Original

 Cost
	Accum.

 Depr.
	Fair

 Market

 Value
	Replace-

ment

 Value
	Assessed

Value

	Building
	750,000
	86,664
	800,000
	900,000
	625,000

	Land
	75,000
	0
	125,000
	125,000
	100,000

	Equipment
	100,000
	48,000
	75,000
	125,000
	95,000

	Airplane
	450,000
	162,000
	300,000
	670,000
	275,000

	Vehicles
	135,000
	54,000
	45,000
	150,000
	35,000


For questions 22 through 25, write the identifying letter of the best response on your answer sheet.

22. When the property taxes are paid, what account is debited?


A. Cash in Bank


C. Property Tax Expense


B. Depreciation Expense
D. Plant Assets Expense

23. What is the amount of property tax attributable to the real property?


A. $1,500

E. $12,375


B. $9,375

F. $13,500


C. $10,875

G. $13,875


D. $11,250

 *24. What is the amount of property tax attributable to the personal property?


A. None, because by definition personal property for property tax purposes is



not taxed.


B. $1,950

F. $10,275


C. $4,125

G. $10,875


D. $6,075

H. $14,175


E. $6,300

I.  $16,950

25. Which of the following statements is false?


A. Assessed value is usually based on the judgment of persons referred to as



assessors.


B. Assessors are elected by citizens or are specially trained employees of a



governmental unit.


C. The taxpayer may pay property taxes based on the assessed value or the book



value whichever is less, provided the taxpayer can show evidence of the book



value.


D. Often the assessed value is only a part of the true value of the asset.

Group 5

On January 7, 2005 Barry Cheatum, Alex Lyar, and Stacy Swindle agreed to form a partnership to practice law.  Each partner agreed to invest the following assets in the new business:

	
	Cheatum
	
	Lyar
	
	Swindle

	
	Original 

Cost
	Market

 Value
	
	Original Cost
	Market Value
	
	Original Cost
	Market Value

	Cash
	
	
	
	25,000
	25,000
	
	40,000
	40,000

	Computer

Equipment
	8,000
	5,000
	
	175,000
	80,000
	
	50,000
	10,000

	Office

Furniture
	
	
	
	120,000
	90,000
	
	110,000
	80,000

	Land
	20,000
	135,000
	
	
	
	
	
	

	Building
	252,000
	185,000
	
	
	
	
	
	


The columns marked “original cost” indicate the original cost of the items paid by each individual on various dates prior to the partnership formation.  The partners hired a certified appraiser to give them a current market value of the various assets.  The findings of the appraiser appear in the “market value” columns.

At the end of the first year, the time accounting and billing software used by the firm provided the following productivity report:

	
	Billable Hours
	% of

Billable

Hours
	Admin.

Hours
	Time

Lost
	Total

Hours

	Cheatum
	937
	25%
	86
	1,057
	2,080

	Lyar
	375
	10%
	340
	1,365
	2,080

	Swindle
	2,436
	65%
	356
	104
	2,896

	Totals
	3,748
	
	782
	2,526
	


For questions 26 through 28 write the correct amount on your answer sheet.  Use the above information for each question, but consider each question as an independent situation.
26. The net income of the partnership is $81,000 and the partnership agreement does 


not state how net income is to be divided.  What amount of net income is allocated


to Mr. Swindle?

 *27. The partners agreed to divide profits and losses on the basis of the capital 


      contributed by the individual partners.  The net income of the partnership is 

      $100,000.  What amount of net income is allocated to Mr. Lyar?

28. The partners agreed to share profits and losses on a fractional share basis.  The 


basis is their respective percentage of billable hours.  The net income of the

partnership is  $50,000.  What amount of net income is allocated to Mr. Cheatum?

Group 6

One of the items sold at Hanson’s Office Supply is a calculator.  The following shows the beginning inventory and purchases information for the year.  During the year 533 calculators were sold for $9.95 each and 216 calculators were sold for $16.95 each.  The company uses a periodic inventory system.  The market value of the calculator as of 12-31-05 is $5.25 each.   (Round computations to the nearest cent.)

	
	
	Number of

Units
	Cost per Unit
	

	1-1-05
	Beginning Inventory
	20
	3.00
	

	Feb
	Purchase
	20
	3.25
	

	Mar
	Purchase
	140
	3.50
	

	May
	Purchase
	76
	3.65
	

	Jun
	Purchase
	100
	3.75
	

	Aug
	Purchase
	205
	4.00
	

	Sept
	Purchase
	120
	4.00
	

	Oct
	Purchase
	78
	4.10
	

	Nov
	Purchase
	40
	6.00
	

	Dec
	Purchase
	32
	6.15
	


For questions 29 through 36, write the correct amount on your answer sheet.  (Note Questions #33, #34, and #35 each have one asterisk.)

	FIFO
	
	Units
	
	Amount

	Available for Sale
	
	
	#30
	

	Ending Inventory
	#29
	
	#31
	

	Cost of Merchandise Sold
	
	
	#32
	

	Gross Profit
	
	
	*#33
	

	
	
	
	
	

	LIFO
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	
	

	Cost of Merchandise Sold
	
	
	
	

	Gross Profit
	
	
	*#34
	

	
	
	
	
	

	Weighted Average Cost
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	
	

	Cost of Merchandise Sold
	
	
	
	

	Gross Profit
	
	
	*#35
	


** #36.  Assume that Hanson’s Office Supply chooses to value its 12-31-05 ending 

       inventory at the lower of FIFO cost or market method.  What amount would be 

       reported on their 12-31-05 Balance Sheet for Merchandise Inventory?

Group 7

A company reported the following financial data for three successive accounting years:

	
	2003
	2004
	2005

	Net Sales
	53,798
	67,214
	76,980

	Beginning Inventory
	11,425
	8,960
	17,335

	Net Purchases
	33,504
	40,394
	46,530

	Cost of Merchandise Available for Sale
	44,929
	49,354
	63,865

	Ending Inventory
	8,960
	17,335
	14,160

	Cost of Merchandise Sold
	35,969
	32,019
	49,705

	Gross Profit
	17,829
	35,195
	27,275


In 2006 a review of the physical inventory computations disclosed that the following mathematical errors were made:

	Year:
	Error in Determining

Ending Inventory:

	2003
	understated $3,690

	2004
	overstated $4,285


On your answer sheet for questions 37 through 39, write the correct amount of gross profit for each year.

37. Year 2003

*38. Year 2004

39. Year 2005

For questions 40 through 43, continue to use the information above.  On your answer sheet write YES if the answer is yes; write NO if the answer is no.

40. After the errors are corrected, is the gross profit percentage for each year more


consistent than before the corrections?

41. Does the ending inventory error in year 2003 have the same affect (in direction and 


in amount) on gross profit for 2003?

42. Did all the errors cause the 2004 beginning inventory to be overstated and the 2004 

      gross profit to be overstated?

43. If the only error in the three years had been an understatement of ending inventory 

      in year 2003, would the gross profit in 2004 be understated as well?

Group 8

Refer to the partially completed plant asset records in Table 1 on page 11.  The company’s fiscal year-end is December 31.  For questions 44 through 55, write the correct amount on your answer sheet.

Questions 44 through 49 are about the laser drill only.

44. What is the estimated amount to be depreciated over the entire useful life?

45. What is the amount of depreciation expense for the year ended 12-31-05?

46. What will be the book value on 01-01-09?

47. What will be the accumulated depreciation on 01-01-10?

48. What is the amount of depreciation expense for the year ended 12-31-11?

**49. Assume the laser drill is sold on 06-04-07 for $15,000.  What is the amount of


      gain or loss on the sale?

Questions 50 through 55 are about the truck only.

50. What is the estimated amount to be depreciated over the entire useful life?

51. What is the amount of depreciation expense for 2005?

52. What is the amount of accumulated depreciation on 01-01-08?

53. What is the amount of depreciation expense for 2009?

54. What is the book value on 01-01-09?

 ** 55. Assume the truck is sold on 01-01-07 for $20,000.  What is the amount of gain or 


     loss on the sale?

Group 9

For items 56 through 65, on your answer sheet, write TRUE if the statement is true; write FALSE if it is false.

56. When the perpetual inventory system is used, purchases of merchandise are 


debited to Merchandise Inventory.

57. The higher the ending inventory, the lower the net income amount.

58. Businesses that use the perpetual inventory system have no need to take a physical


inventory.

59. In a period of rising prices, the LIFO method results in the lowest gross profit on


sales.

60. When the perpetual inventory system is used and a sale is recorded, one entry


records the sale at the selling price and a second entry debits an account called


Cost of Merchandise Sold with the amount of the cost of the inventory item sold.

61. Once a business chooses an inventory costing method, the business must use it


consistently unless the business seeks permission for a change from the Internal


Revenue Service and reports how the change will affect the financial statements.

62. A company’s gross profit on sales and net income are affected by the inventory


costing method used.

63. With the FIFO method, the inventory is based on the most recent costs.

64. Businesses usually take a physical inventory during the peak selling period because


that is when the labor force is at its peak.

65. A business with low unit volume of merchandise with high unit prices typically uses


the specific identification inventory costing method.

Group 10

Refer to Table 2 on page 12.  For questions 66 through 80 write the identifying letter of the best response on your answer sheet.

66. What is the book value of Accounts Receivable of Amazon Co. on 12-28-05?


A. $26,373
B. $32,478        C. $34,024       D. $35,614       E. $37,204

67. Which of the following is correct about the entry Amazon made on 12-30-05?


A. Accounts Receivable was debited


B. Uncollectible Accounts Expense was debited


C. Allowance for Uncollectible Accounts was debited


D. Allowance for Uncollectible Accounts was credited

68. After Jake Barrett’s account was written off on 12-30-05 Amazon’s book value of 


Accounts Receivable was


A. $26,373       B. $32,648       C. $32,478       D. $34,024       E. $34,238

69. Amazon’s adjusting entry for estimated uncollectible accounts expense includes a


A. debit to Accounts Receivable


B. credit to Allowance for Uncollectible Accounts


C. debit to Uncollectible Accounts Expense


D. debit to Allowance for Uncollectible Accounts


E. both B and C

 *70. Amazon’s Balance Sheet dated 12-31-05 will include Allowance for Uncollectible 


Accounts in the amount of


A. $214       B. $1,546       C. $1,590       D. $1,760       E. $1,974

71. Which of the following is an example of an allowance method of accounting for


uncollectible accounts?


A. straight-line method

C. declining balance method


B. direct write-off method
D. none of the above

 *72. Amazon’s Income Statement for the year ended 12-31-05 will include Uncollectible


Accounts Expense in the amount of 


A. $170       B. $214       C. $1,206       D. $1,546       E. $1,720       F. $1,760

 *73. What is the amount of the adjusting entry made by Nile Co. to record the estimated


uncollectible accounts expense for 2005?


A. $340       B. $925       C. $1,265       D. $1,720       E. $2,060

 **74. What is the amount of the book value of Accounts Receivable that would be


reported on Nile’s Balance Sheet dated 12-31-05?


A. $24,653       B. $25,203       C. $25,448       D. $26,373       E. $28,903

Group 10 continued

75. Which of the following is correct about the entry Brazos made on 12-30-05?


A. Accounts Receivable was debited


B. Allowance for Uncollectible Accounts was debited


C. Uncollectible Accounts Expense was debited


D. Allowance for Uncollectible Accounts was credited

76. Brazos’ Income Statement for the year ended 12-31-05 will include


Uncollectible Accounts Expense of


A. $203       B. $672       C. $875       D. $1,547

 *77. On January 18, 2006 Nile Co. received $285 from Jeremy Garza in payment of his 

account, which Nile had written off on 12-30-05.  Which of the following is the 

correct way to handle this receipt?

	
	Reinstatement of Garza’s Account
	
	Entry for Cash Receipt

	
	
	Allow. for
	Uncollect.
	
	
	
	

	
	Accts.
	Uncollect.
	Accounts
	
	Cash in
	Accts.
	Other

	
	Rec.
	Accounts
	Expense
	
	Bank
	Rec.
	Income

	A.
	$285 DR
	no entry
	$285 CR
	
	$285 DR
	$285 CR
	no entry

	B.
	no entry
	no entry
	no entry
	
	$285 DR
	no entry
	$285 CR

	C.
	no entry
	$285 CR
	$285 DR
	
	$285 DR
	no entry
	$285 CR

	D.
	$285 DR
	$285 CR
	no entry
	
	$285 DR
	$285 CR
	no entry


78. On January 20, 2006 Brazos Co. received $672 from Timmy Lassiter in payment of


his account, which Brazos had written off on 12-30-05.  Which of the following is


false?


A. When Brazos reinstates Lassiter’s account, Accounts Receivable is debited.


B. When Brazos records the receipt, Cash in Bank is debited.


C. When Brazos reinstates Lassiter’s account, Allowance for Uncollectible Accounts


     is credited.


D. When Brazos records the receipt, Accounts Receivable is credited.


E. When Brazos reinstates Lassiter’s account, Uncollectible Accounts Expense is


    credited.

79. If Amazon Co. fails to estimate and record uncollectible accounts expense, which of


the following would be a consequence?


A. The matching principle is violated.


B. Assets on the Balance Sheet are overstated.


C. Net income on the Income Statement is overstated.


D. all of the above


E. none of the above

Group 10 continued

80. Which of the following is an acceptable alternative term used to refer to uncollectible


accounts?


A. red-flagged accounts


B. suspicious accounts 


C. improbable accounts

D. doubtful accounts

This is the end of the exam.  Please hold your answer sheet and test until the contest director calls for them.  Thank you.

Table 1
(for questions 44 through 55)

PLANT ASSET RECORD

ITEM_______Laser Drill_____________________  DISPOSAL VALUE__$4,200__
GENERAL LEDGER ACCOUNT ________Equipment________________________

DEPRECIATION METHOD_______Straight-Line_______  ESTIMATED LIFE _6 yrs_



   
ASSET
ACCUMULATED DEPRECIATION

   BOOK

  DATE
COST
  
DEBIT      CREDIT      BALANCE

  
  VALUE
04-26-05    $__17,520___







________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

PLANT ASSET RECORD

ITEM_____Truck____________________________  DISPOSAL VALUE__$6,000__

GENERAL LEDGER ACCOUNT ________Delivery Equipment__________________

DEPRECIATION METHOD__Double Declining Balance__  ESTIMATED LIFE_5 yrs


   
ASSET
ACCUMULATED DEPRECIATION
 
   BOOK

  DATE
 COST
   DEBIT      CREDIT      BALANCE
 
  VALUE
01-04-05  $__65,000___


 




________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

Table 2
(for questions 66 through 80)

The following three companies have a fiscal year end of December 31.  On December 28, 2005 before any uncollectible accounts are written off or before any adjusting entries are recorded, the following information is available for the three separate companies called Amazon Co., Nile Co., and Brazos Co.  All accounts have normal balances.

	
	Amazon Co.
	Nile Co.
	Brazos Co.

	Accounts Receivable
	35,614
	27,638
	15,642

	Allowance for Uncollectible Accounts
	1,590
	1,265
	0

	Sales (includes cash & charge sales)
	128,379
	92,465
	57,239

	Sales Discounts
	3,860
	2,775
	1,214

	Sales Returns & Allowances
	4,219
	3,690
	875

	charge sales
	89,416
	48,150
	32,650

	Uncollectible Accounts Expense
	0
	0
	0


Each business has adopted a different method of accounting for uncollectible accounts.  Amazon Co. uses the aging of accounts receivable method.  Nile Co. uses the percentage of net sales method (historically 2%).  Brazos Co. uses the direct write-off method.

On December 30, 2005 the companies wrote off the following respective accounts as uncollectible:

Amazon Co.:   Jake Barrett  $1,376

Nile Co.:  
Jeremy Garza  $285



Grace Schultz $640

Brazos Co.:
    Timmy Lassiter  $672

On 12-31-05 each company prepared an Aging of Accounts Receivable as follows:

Amazon Co.  $1,760
       Nile Co.  $1,510

Brazos Co.  $875

